@ EL@J @ Iﬁl Kerro desimaalit kymmenen voimalla

Nimi: Piivimadrd: __ Pisteet: ____
6, 805 x 1000 = 8,483 x 100 =
2,968 x 1000 = 4,654 x 100 =
7,568 x 1000 = 2,861 x 1000 =
9,7 x 100000 = 9,752 x 10000 =
5,474 x 1000000 = 1,211 x 1000 =
10,315 x 1000 = 10,784 x 100 =
5,571 x 100000 = 1,023 x 1000 =
6,294 x 10 = 4,363 x 10 =
9,435 x 1000000 = 10, 178 x 100 =
10,419 x 100 = 3,509 x 1000 =
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@ g% @ Kerro desimaalit kymmenen voimalla

Nimi: Piivimadrd: __ Pisteet: ____
6, 805 x 1000 = 6805 8,483 x 100 = 848.3
2,968 x 1000 = 2968 4,654 x 100 = 465.4
7,568 x 1000 = 7568 2,861 x 1000 = 2861
9,7 x 100000 = 970000 9,752 x 10000 = 97520
5,474 x 1000000 = 5474000 1,211 x 1000 = 1211
10,315 x 1000 = 10315 10,784 x 100 = 1078.4
5,571 x 100000 = 557100 1,023 x 1000 = 1023
6,294 x 10 = 62.94 4,363 x 10 =43.63
9,435 x 1000000 = 9435000 10, 178 x 100 = 1017.8
10,419 x 100 = 1041.9 3,509 x 1000 = 3509
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